- S BAINEL
BAINEL AUTOPARTS

BAINEL AUTOPARTS is engaged in trading and manufacturing
chassis parts since 2012 .

We are-professional in trading and manufacturing parts:
Suspension System

Brake System

Drive Shaft

Engine Parts

Body parts...




1.Control Arm

2.Tie Rod end
3.Ball Joint
4. Stabilizer Link

5.Axial Rod
b.5teering Knuckle

1.Brake Caliper
0.Brake Cylinder
9.Cam Shaft
10.Cylinder Head
11.Brake Disc
12.Wheel Hub Bearing

All other parts for the car module,Please consult customer service for details.
Sales@bainel-autoparts.com



LANCIA

Fitting Position: Front Axle left and

Did not find corresponding models
LAMCLA

Cone Size: 14.8 mm
Height: 40 mm

CHRYSLER right
1 |BNO36000GT |To Sl IAA. 1300 G 120407 Outer thread 2: M14x1.5 mm -
IGE IOLTIAA ‘IFEEEAI: 2011 Fitting Position: Lower (—_-'-}
s E = Fitting Position: Front Axle left and
FlaT ) )
BRAVO Il (198) [2006-]STILO (192)  |Height: 55 mm .
x Fitting Position: Left and nght
2 |BMO3600062 |50705463 [2001-2010]STILO Multi Wagon (192) ek b
Fitting Position: Front Axle &: 17 mm P
[2003-2008] : Al =
LANCLA Weight: 0.402114 kg B e
Height: 10.8 mm
Bore &: 17 mm
LAMCLA, T = -
3 |BMO3600063 |82463956 Fitting Position: Front Axle & 1
DEERSTES e, FIR-1904] Fitting Position: Lower by
Fitting Position: Left and right
Height: 48.5 mm
LAMCLA Bore &: 15 mm
4 |BMO3600064 82346006 DELTA | {(831AB0) [1979- Fitting Position: Front &xle
19941PRISMA (831AB0) [1983-1992] Fitting Position: Lower
Fitting Position: Left and right
FlAaT Cone Size: 20 mm
CROMA (154) [1985-1996] Weight: 350 g
5 |BMO360006S |82420623 LAMCLA, Fitting Position: Front Axle
THEMA (834) [1984-1994]THEMA SW |Fitting Position: Lower
(B34) [1987-1994] Fitting Position: Left
ﬁtﬁlﬁ 838A) [1994-2001]KAPPA Qi‘rg‘”gfffm";"‘
6 |BND3600066 |82480099 ( 1 I ] Fitting Position: Front Axle
Coupe (838) [1996-2001]K.APPA SW Fitting Position: Lower L
B3 [1206-2001] Fitting Position: Le®t and right o oB 06
ALFA ROMEO Fitting Position: Left and right
Did not find corresponding models Fitting Position: Lower
7 |BMNO3G60006T |60510360 FlAaT Fitting Position: Front Axle

All other parts for the car module,Please consult customer service for details.

Sales@bainel-autoparts.com




I ANCILA

7545582 Cone Size: 13 mm
591216 ?ILAEI'A FRORICD, Inmer Thread: PA12x1.5 mm "‘.
7678718 BRAVA (182) [1995-2003]BRAVO | e anaeh
19 |BNOG1000OTY |F247435 (182) [19952001TIPO (160) [1987- | 'ting Position: Front.fode
994TAZT 1995] Length: 130 mm
9950671 AR Width: 50 mm
60565706 Height: 75 mm
60806356 Weight: 0 375187 ka
Fitting Position: Front Axle
LANCLA Fitting Position: Left and right I
20 |BMNOG100080 |FF¥365815 Fitting Position: Cuter
¥PSILOM (312, B46) [2011-] 2 arvcy ATA =
Weight: 0.48 kg
Fitting Position: Front Axle
LAMCLA Fitting Position: Left and right -
21 |BNOG100081 |82351945 DELTA | (831AB0) [1979- Fitting Position: Outer
1994]PRISMA (831AB0) [1983-1992] [Inner Thread M14*1.5 mm h
Outer Thread: P10%1.25 mme
Fitting Position: Front Axle
- PARIK S Fitting Position: Left and right
22 |BMO6100082 |9946817 HAPEA NS 1904 SO0 TRCEE A Fitting Position: Outer s
Coupe (838} [1336-2001]KAPPA SW |, o0 i size: M10x1.25 ﬁ
(835B) [1996-2001] Cone Size: 14 mm
FlAaT Fitting Position: Front Axle left and
IDEA [20034] right =
23 |BMOG100083 |77362503 LANCLA Fitting Position: Outer h
MUSA (350) [2004-]TYPSILON (843) Width: 40 mm
[2003-2011] Height: 90 mm
FLAT Cone Size: 12,45 mm
SCUDD Box (2200} [12996- Fitting Position: Cuter
2006]SCUDO Combinato (220P) Fitting Position: Left and right
24 |BNOG10008a |f 7362279 [1996-2006]ULYSSE (1794X) [2002- |Fitting Position: Front Axle >
405912 2011] Length: 75 mm
LA LA Thread Measurement 1: M14x1.5
PHEDRA (179) [2002-2010] Hiwoard Seo0: 2 W2
Fitting Position: Front Axle left and
LANCLA it
25 (BMOG100085 |F77362381 Fitting Position: Outer —?
YPSILOM (843) [2003-2011] Thread Size: M12x1.5
Cone Size: 11.66 mm

All other parts for the car module,Please consult customer service for details.

Sales@bainel-autoparts.com




A ]
\\.' |

UNIVERSAL CERTIFICATION CENTRE CO.-. LTD.
QUALITY MANAGHMENT SYSTEM CERTIFICATE
Pl | ORI AHERTTIRM

Certificate of Compliance
Rin 3108 R ALAATTRS

SF
ISR
Fc ; Certificate of Registration

Thbswrifles shiad tha Crisdiey Sl anagornan Sysina of

Weicheng Metal Products Co., Ltd.

B 3N, Sorih olf Nerghat Hoad, Nanghai Coerdy
Ninghe Uity hagia Privere: Chins 305608

Cerilicate’s WhaicPng Miltol Produsts Cou o,
T m;:m"m.aum v, 5
.

i e coniy et ey v .
WEICHENG METAL FRODLUCTS I:I:I.| LT

b By i ey NEF-TRH el Foiall 10 bs i iy Ve the Fllawing whainlard

o BB 1619200

G 1900 - 200 TS Crie | =198

Tnin e s v
SPRODLCTION AND SERVICES OF STEEL CASTING®
o b - S DY 1'&1.“ ﬂdm

AN AZS] Conioe CFA CFAM, CFIC

Wanilicalian fe: T
ASTRA |4 SR AR ISR A

Serpe ol gsiraio:
Madifiches af Prosiae Castiag (i Shifl Lo, bemiak, ool Uil
Exclusirans: Prodac Dsdpn

- LATE Ciralionts Hamber
" ot b, ;-" 2
Carifais Tea D FEAAY-3854 E -
Tghiaging T 1RALAY 28 | ik
Faparataca Taty® %M AY-2001 Wi Frppmalien, Torirsind
Cpesiom, K9S0, Lid

H5F International Siraleg e Registralions

TER Hits Do Biomd, i A, Wisfogen S0 | [084) FSF 000 | Mewr ki o

lel: 86-574-82824608
Fax : 86-574-82824600
Mail : sales@bainel-autoparts.com

Website : www.bainel-autoparts.com 2 -
Office Add : AUTQ I. f—\_l, 1 b

Rm1801,No.88 Qianhe South Road,Ningbo,China
Plant Add :

No0.388,Xinghai North-Road, Ninghai County, Ningbo, China

— -y




